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fEATE BEEaOTER HEEIh*x1 T 730 x 1 2 | & 10000 20000
& - I Y SRR A MESEERASBERED 2 | AT 23000 46000
Bt EMRE M 1 ) 15000 15000
BN & 1 = 65000 65000
SLEEMBE 2 | AT 23000 46000
HH /et 1 = ¥192,000




a—FK EE | B A B4 {f £%8 B
BEHE-MLEYIE
K F TR A LGS19 30 | m 1500 45000
PB9.5 30 m 1100 33000
LIy T ithiE A LGS65 40 | m 1800 72000
PB12.5 80 | m 1100 88000
EMERBAE 1 = 8000 8000
M EEREEHM 1 = 6000 6000
B O AR 454 R7.T7a % 5 | @&Ffr 4000 20000
IHH /MG 1 = ¥272.000




a—Fk IEH FHi BE | B =i +%8 s
EETE

MLET7 BEZ 1 | &P 6000 6000
BRE EE 2 a8 9000 18000
BEEAYO# 1 = 13000 13000
MMLEENADDEZ— 1 = 11000 11000
EESL 40y BRE-HE 1 |tyk 16000 16000

& 2 a 14000 28000

# 2 = 12000 24000

FEBUINT - fH58 1 = 28000 28000
fRIKE P iEH - BIEM 1 = 30000 30000
RiGHETE 4 | AT 23000 92000

SLEE ARAEY 24 | m 6000 144000

T ihAf 24 m 2000 48000

= 4 | AT 23000 92000
IHH /MG 1 = ¥550,000




a—K 15 H B = | B i &% &%
RELEIFIE
KF-EmyORELY 140 | m 980 137200
RZ2O7 %24 )LEEY 20 | m 4580 91600
rhAk 15 | & 400 6000
SLEEfRA THERE 24 | m 4800 115200
BEHE 1 = 8600 8600
EEARERRE 1 = 26000 26000
I8 B /it 1 = ¥384,600




a—Fk IHH 30 HE | B B i £%8 s

BXAEEISE

ITE HEBRWNUES 1 = 30000 30000

EHEM 1 = 60000 60000

EXIEE 1 = 90000 90000

i o B EE7EFI A
T BHAFERGEGIE XHEN 6 | #Fr 3000 18000

I BHAFERGEGIE DLALEEO 6 " 4000 24000

T BHAREEGIE T IREARE 1 =) 2000 2000

FEAT HEO 1 a8 6800 6800

XHESTLED 6 = 12000 72000

By 54k 6 = 8000 48000
EHGIRHEHER - B 1 = 80000 80000

JHIFREI S 1 = 50000 50000

I8 B /it 1 = ¥480,800




a—Fk IHH FHi HE | B =i +%8 s
THRERIEISE

RKHEDAAI TV 3EN 2 = 215000 430000
wEHLOEER 2 = 75000 150000
4 AEREM-REM 2 =X 10000 20000
B+ FLUERE - {REH 2 " 4000 8000
B ZEFEEfE 2 " 20000 40000
B4 o0 HRFEIE 2 " 2000 4000
BRA CHAES - HEM 2 " 20000 40000
TIE =AEBAREMGTIE 2 " 10000 20000
IE ENHRARCIE 2 " 3000 6000
T ENNEERTS 2 " 5000 10000
IE BRE-REREIS 2 " 10000 20000
IE FLY-FREZRBEIE 2 " 8000 16000
I BYERS UEIVERISE 2 " 6000 12000
IH BEEBEAEEREE 2 " 5000 10000
IE RE-FLUOTAMEE 2 " 5000 10000
[ER#RE 2 a 16000 32000
A ER RRFIVRRFEED 4 = 15000 60000
BEEHER R 2 ayaJry 1 = 39000 39000
Bt 1 = 11000 11000
RIMMFIILEYE 20 m 1500 30000
LE45 9k 5 m 7000 35000

G A4 ILE— 2 a8 67000 134000

Bt BEIEE 1 = 160000 160000
HMERER BIEM 1 = 20000 20000

I8 B /MGt 1 = ¥1,317,000




a—Fk IHH FHi BE | B =i +%8 s
HRHEKBERBIE

BEKEEIS VU40-50 8 m 400 3200

G L F5E 1 = 5000 5000

XEHEY 1 = 6000 6000
BEIEE 1 = 15000 15000
HIHAR 1 = 3000 3000
HKERIEIS HIVP13 8 m 200 1600
HIVP20 5 m 300 1500

G L F5E 1 = 6000 6000

XEHEY 1 = 3000 3000
EEIEE 1 = 15000 15000
HIHAR 1 = 3000 3000
HEREIS CUP15 5 m 600 3000

E LM F5E 1 = 6000 6000

XHEEY 1 = 3000 3000
BREIEE 1 = 15000 15000
HOEAER 1 = 4000 4000
REMERE 1 = 5000 5000
REHFE 1 = 6000 6000
R\ BHERL 2 m 7400 14800
B BT 1 = 50000 50000
165 H R¥Eiz2 1 = 45000 45000
HRAEEMHE 1 = 12000 12000
HRABEEIEE 1 = 30000 30000
IHH /M 1 = ¥256,100




1—K I5H | EEa] HE| 5 i &4 =
REHETIEIRE - RERE

SHL-KEY 50 m 300 15000
AERE 35 2R LU E 50 m 200 10000
BRNEE-AT-BE 50 | m 300 15000
15 RV E iy 50 m 200 10000
FEMUNIEE 50 | m 600 30000
o Y)—=—245 50 m 400 20000
RGEE EIERE S5&EMK 20528 40 | = 2000 80000
RIGE IR E 20 =] 9000 180000
e T R e & 1 = 50000 50000
I8 B /it 1 = ¥410,000






